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1. (20 43) Sally is a frequent flyer whose air fares are reduced (through coupon
giveaways) by 25% after she flies 20,000 miles a year.

a) Draw her budget line (be sure to label axes and indicate the slope(s} of the budget
line) and write the equation for this budget line.

b) Suppose Sally was planning to fly 19,000 miles per year in the absence of this
frequent flier program. Use your graph to indicate how this program may (or may
not) cause her to change the number of miles she flies this year.

2. (204y) Consider a Cournot tri-opoly where, prior to any possible merger, firms
have the same (constant) ma.rgmal cost and same fixed cost: C(q,) =30 q;+F for
firms i = 1,2,3. Market demand for the homogeneous product is deseribed by the
linear (inverse) demand function: P(Q) =150 - Q, where Q=q, + 9+ 45 is industry
output.

a) Express the profit of each (symmetric) tri-opolist as a function of F.

b) Suppose now that firms 1 and 2 merge, with the resulting industry being a
Cournot duopoly. Through the merger, the merged firms are able to eliminate
duplication of overhead costs so that the post-merger cost fimction of the merged
firm is given by: C,(q,,) = 30 q,, + Fy; where Fy, <2F and where g;, is the post-
merger output of the merged entity. Decide how large savings in overhead cost

* 'must be for the two firms to find it profitable to merge.

¢) Now suppose that, instead, the two merging firms realize 2 saving in variable cost.

To keep matters simple, assume away any fixed costs before or after the merger: F
= 0. Let post-merger costs facing the merged firm be: Cp(qp) = ¢ 30 q;, where ¢ <
1 measures the extent of variable cost savings. Decide how large the cost savings
must be for the merger to benefit consumers.

3. (1043) A recent medical study suggests that consuming chocolate might actually
reduce the risk of heart disease. How will the medical news affect the equilibrium
price and quantity in the market for chocolate in the short run?
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4. Explain how technological change can lead to unemployment or increased
employment in certain industries. (10’ )
5. Evaluate the following statements: (2047)

a.) Without money, everything would be more expensive.

b.) There is a close relationship between demand-side economics and the
government budget deficit.
6. Explam the following terms with your comments: (20; ;_;)
a.} Crowding-out effect
b;) Stagﬂation
¢.) Liquidity trap

d.) Rational expectations
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1. The marital status of employees seem to have a direct relationship with:
(A) productivity '
(B) tumover
(C) level of education
(D) intelligence

2. A desire for being productive and reaching desirable goals is an example of
McClelland’s: .

{A) Need for achievement

(B) Need for affiliation

(C) Need for power

(D) Need for existence

3. According to the goal-setting theory of motivation, goals should be:
(A) extremely difficult
(B) difficult but attainable
{C) easy
(D) just a bit beyond his or her potential

4. One of the most effective ways of enhancing organizational performance isby
increasing

(A) productivity

(B) profits

(C) benefits

(D) demands

5. is the transfer of information that is meaningful to those involved.
{A) Strategic planning
(B} Organizational development
(C) Diversity
(D) Communication

6. Job involves adding more tasks of a similar nature to the job.
(A) enrichment
(B) enlargement
(C) rotation
(D) building
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7. A teaching method of should force the trainee to think through
problems, propose solutions, choose among them, and analyze the consequences of
the decision.

(A) case study

(B) lecturing

(C) seminar

(D) brainstorming
8. rewards are normally derived from involvement in certain activities or
tasks.

(A) Intrinsic

{B) Internal

(C) Organizational

(D) Extrinsic

9. The word “Hyundai” in Korean means:
(A) ancestral
(B) modern
(C) teamwork
(D) worldwide

10. Changes in cmpora::e strategy precede and lead to:
(A) changes in the environment.
(B) better communication
(C) increased productivity
(D) changes in an organization’s structure

il asks managers to reconsider how work would be done and their
organization structured if they were starting over.

{A) Reengineering

(B) MBO

(C)TQM

(D) Diversity training

12. is a philosophy of management that is driven by the constant
attainment of customer satisfaction through the continuous improvement of all
organizational processes.

(A) Reengineering

(B) MBO

(C) TOQM

(D) OB Mod

13. Mintzberg concluded that managers perform ten different highly interrelated roles
atiributable to their jobs. All of the following are management roles except:

(A) interpersonal

(B) informational

(C) communicational

(D) Decisonal
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14, In general, the most important job skill listed by recruiters was: | )
(A) a college degree
{B) interpersonal skills
(C) mathematical skills
(D) computer skills
15. Which one of the following is not part of the definition of an “organization™?
{A)Change (B) Goals
(C) Two or more people (D) Coordination

16. Predictability of behavior is most enhanced if we know:
(A} that the person is rational
(B) how the person perceives the situation
(C) that behavior is caused
(D) the person’s age

17. Which of the following is not true about globalization?
{(A) The workforce will be different in needs, aspirations, and attitudes
(B) The workforce will be from different cuitures
(C) The managers will find that their training in a MBA Program will usually
be sufficient for their roles in other countries.
(D) Communication which works well in one setting may be uncomfortable

and threatening in another,

18. National culture continues to be a powerful force in explaining a large proportion
of people’s behavior. When describing Americans culturally, which of the following is
least likely to be characteristic?

{A)Direct (B) Competitive

(C) Formal (D) Questioning
19. The ‘ leadership style should prevail in countries that emphasize
trusting values.

{A) autocratic {B) participation

(C) dictatorial (D) directive

20. One of the shortcuts used to judge others involves evaluating a person based on
how he/she compares to other individuals on the same characteristic. ~This shortcut
is known as:

{A) selective perception (B) contrast effects

(C) halo effect (D) prejudice

21. Decision making would best be deseribed as an exercise in:
(A) establishing goals (B) evaluating people
(Cevaluating trade-offs () making profits
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22. Employees are most likely to respond to change efforts made by someone who:
(A) is liked; credible and convincing
{B) has an impressive title
(C) is considerably older than the workers
(D) is new to the organization

23. Which one of the following is most likely to lead to high job satisfaction?
(A) Being married  (B) Mentally challenging work
(C) Working alone (D) Having an cutgoing personality

24, In the communication process model, which of the following occurs before the

others?
(A) Transmitting {B) Encoding
{C) Decoding (D) Understanding

25. All of the following are examples of status recognized formally except:
(A) large offices with impressive views
(B) fancy titles

{C) age
(D) preferred work schedules
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1. When John maximizes utility, he finds that his MRS of X and Y is greater than
Px/Py. Itis most likely that:

a. John's preferences are incomplete.

b. John's preferences are irrational.

c. John is not consuming good X.

d. John is not consuming good Y.

2. John's marginal utility of income function is given as
MU(D)=I"*

where I represents income.  From this you would say that he is

a. risk averse.

b. risk loving.

c. risk neuiral

d. none of these.

3. John just bought a house for $250,000. Earthquake insurance, which would pay
$250,000 in the event of a major earthquake, is available for $25,000. John
estimates that the probability of a major earthquake in the coming year is 10
percent, and that in the event of such a quake, the property would be worth nothing.
John's utility of income function is U@=I*%. Should John buy the insurance?

a. Yes.

b. No.

c. John is indifference.

4. We need more information on John's attitude toward risk. '

4, A production function can be characterized by the following equation: Q=50+20L,
where Q is output per hour and L, is labor per hour. If workers earn $15 per hout,
what is the marginal cost of the tenth unit of output? '

$1.33.

$0.75.

$300.

$20.

=T SR

5. When a competitive industry is in long mn equilibrium, which of the following
statements will be true?

a. Price will equal short-run marginal cost.

b. Price will equal short-run average total cost.
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¢. Price will equal long-run maxginal cost.
d. All of the above.

6. Consider a country in which product X is produced and consumed domestically.
In addition, some of domestic consumption is the resuit of irﬁports. Now, suppose
the government in this country imposes an import quota of zero (no more imports
of X allowed). As a result of the cutoff of imports, the domestic price of X
increases to a new equilibrium above the world price.  The welfare effect of this
new policy in this country is

a. no welfare loss.

b. the loss in consumer surplus exceeds the gain in producer surplus.

¢. the loss in consumer surplus is less than the gain in producer surplus.

d. the loss in consumer surplus equals the gain in producer surplus.

7. If a monopolist's profits were taxed away and redistributed to its consumers,

a. inefficiency would remain because output would be lower than under competitive
conditions.

b. inefficiency would remain, but not because output would be lower than under
competitive conditions.

¢. efficiency would be obtained because output would be increased to the competitive
level.

d. efficiency would be obtained because output would be increased and profits

removed.

8. The NSYSU Oil Company is a vertical integrated firm. it explores for and
extracts crude oil. It also refines the crude oil into gasoline and other products,
and sells these products to consumers. There are many other firms that extract
and sell crude oil so that the market for crude oil is regarded by NSYSU Oil as
competitive. The internal price that NSYSU Oil uses when the crude oil that it
extracts is "sold" to one of its refineries:

a. equals the market price for crude oil.

b. equals the market price for crude oil less a discount because NSYSU Oil does not
profit from itself.

c. is unrelated to the market price of crude oil.

d. is grehter than the marginal cost of extracting crude oil.

9. You are studying a market for which the kinked demand curve model applies. The
kinked demand curve is as follows:
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Q=1200-5P  for 0=Q<150
Q=360-P for 150<Q

The marginal cost is given as:

MC=Q
What is the profit maximizing level of output?
a. 171.43
b. 120
c. 150
d. none of the above.

10. John and Mary would like to go out to dinner, but have different tastes in food.
The payoff matrix below shows John’s and Mary’s preferences.

John
Chinese American
Chinese 3,1 0,0
M ’ E
&Y American 3,0 1.3

Which of the following strategies is not a Nash equilibrium?

a. John and Mary both eat Chinese food.

b. John and Mary both eat American food.

¢. John adopts a mixed strategy and chooses Chinese food with probability 2/3 and
chooses American food with probability 1/3. Mary adopts a mixed strategy and
chooses Chinese food with probability 1/3 and chooses American food with
probability 2/3.

d. All of the above are Nash equilibrium.

11 A T RELBAFBRGSHTRGG B L¢aBLRARESFHT
R FHF— AL ERTHESRESZ2TE? (a)A1d (D)B=x
4 (c) MITFRRETFOHTHRE—K (d) BEAFERTHHE -

12. MAMEARARBRERSEAY  RALRAER  EPAFALNEF &
i ABA: (a) LFGBRLHN (b) ZFAERMM () ¥ 8
BRLEBEE () REEH TR -

13. SHHARKBAENFE: (B MEC@Z(DH-

14 R¥eMxwnR © (a) st (b) grikaaRrng (o
REEgRAAE (d) REFE -

15, AMMABED  THAEABEG  HHBFHOBE:  (a) HE
BEHTE (b) HEXBAEm (c) FBELER (d) REBRR -

16, BHAERF T WS TREPE, B2 (a) BAEF () &
BoME & (c) B4t () BeadEE -

17. #1BAL T ZEREEGELE  AANBENEOERES—:  (a)
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EatdEwmsg (b) ARG (o) kP4 (d) £HH -

18. BALEREATELACASRITRERI BARTREILAN
(a) £aneTs (b) BERSFTH (c) BEWH (D H/ETH

19, 2o B FTHRAE2RITHOREELIE  (a) RERETHY
g (b) BESE (c) RNATHABERS () REFF-

90. A£4F ERAGERS  ERFEA%:  (a) HAMGRAE 0 BRFINAMR
MEE (b) BRAZLMATAD 2~ (c) B KR BB
BH (d) HAF g R RBE— -

~ - F%A (20 5) "

42002 £ 1 B | BEHBLBRENMAERT HEAM (the World Trade

Organization; WIO )+ &34 A hFHEEHRY (node of the free-

narketed-economy) #HE - BT HER ¥ 2 ¥ HeF - WHRIR VIO G
A& R (the basic principles of WIO)> BREREGERMARA (B

BRl A Ay FEEGHFZARNELSHE)-

Z B (20 4)¢

Assume that $1 worth of one-period bonds issued at the end of period O pays out

$(1+R,) during period 1 - that is, the principal of $1 plus the interest payment of $R;.

Assume that $1 worth of one-period bonds issued at the end of period 1 pays out

$(1+R,) during period 2. Suppose that people also market a‘two-period bond at the

end of period 0.  $1 worth of this asset pays out $(1+2R) during period 2. Lenders

from date 0 to date 2 have the option of holding a two-period bond or a succession of

one-period bonds. Borrowers have a similar choice between negotiating a two-

period loan or two successive one-period loans.

a. What must be the relation of R to R, and R,?  Explain the answer from the
standpoint of borrowers and lenders.

b.IfR,> R,, what is the relation between R and R,?
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1.

2,

THI—EE B ES N EEN R A E SR E T EER ? (A)ﬁﬁi
THRIE] (B)SLERYERE (O)BERIVEME (D) MR
TEERELERMEE S  Bi—E 2 LEE e Ry ? (Mﬁ%ﬁ&@gﬁ
R R LSS (B)TVBS L EREZE 2100 2 K655
(OB LER S EEEEMNERIENNERS OMEREY
L BRI DR S E LR R RIS ST -
THEE-—ELZCR LM EEENTRE ? (AORSENATHREE
HEE  EEAR (BYASBAAERNINEREB R TURE RS B
B (OS2 E M AN EEES - /FRI55| - SSIERETERTHIE
o B ey AR B EAEE R (DRI OTIEESA
B ORI -
TEH—EEECEENESNSCLETHER ? (A)Motorola F Disney
EROE T EEREHERESIRL0ER (B)Johnson & Johnson fEEIET
EIERRENT SROER (OHP /] Marrot JEXIERIEREEESR
HREENELED O —FERRCE S RERESAIDERH
BISSHE S THVEVS -
LB EFRENESEEERTEEIT (A)0.09 % (B)0.18 Y
3 (C)0.25 Bk (D)0.38 Bk -
THEB - ERF LS SR EE TSR E (Span of Control) ? (A)If’Fitfl
B (B)ERER (OB A= O)RHRYER] -
FESEEEETEREETTE NS EEELURNR ) FEE
R R ? (AEREEEE BlERE OfRiEE O)EH
Rz -
4B 55X (Contingency Theory of Leadership) FTRARAY B REE
Si(Situational Leadership Theory) G TR ? (A)EEHFREHRIER

FESCRE T R SRR - T EMR SRR R R IR

AT ERAS (B) SRR R O S S B TR a
AN - MEANSRRER R EER R TR SRS O
RS E R - Y R R R E
H - FEREFEAS—ROTERE O)RBEREEAEERER
ERYERT » RE—(EPIRARE R - MEAEE RIS
ARRERO R -

TFIHH BCG ERERSGEA B2 IERS 7 (A)BCG ’ﬁﬁﬁiﬂﬁ’tﬁ%%
BF - BTG (B)BCG EEFIERL BN TERNA
(C)BCG ERAVRIEEER - EHHZ BENEXEMBESREESN

ESEE (D) BOG ERASIRIGR  SRNERNTE L ERaEE

B BT EESRARNES BRI R EREA -
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(AYEFFEE T (Peter Senge)  (B)ABLEE &S HI(G. Hamel and C.K. Prahalad)
(OYtmasmiTig(Jay W. Forrester)  (D){i¢#5-#1:417 5% (Peter Drucker)

(BYE & {af%(Frederick Herzberg) (F)ZSATHF(Michael Porter)
(CYFHBIZE#E (Henry Mintzberg) (EDEMEZ W28 (David McClelland)

10. B FIFEH(The Fifth Discipline)iE A HAER SR S S TR ZE R H
B E AR A 7

11. #0288 77(Core Competence)SEEHE SR FIB— AT BB SS K By e s s
HiF 2

12. FPARIR(Competing for the Future SEAZE LR A S
B R e A R — A TR B e S AT 9

13. 5RES R {(Strategic Intent) SEFSRHT (I EEER A2
FEHAY 2

14. ZAf B /78%(System Dynamics {5 (FREIR 2 B — (B EE R AL
BBl ?

15. A EREEERR(Two-Factor Theory S BBl B S0 R AT — (AT RS 2 Byl
HIEg ?

1E5 16~20 SEREH - FESI S —ERALREL RAEEEIMUERR LR
NFUER— TR A -

(A) BASERE THE 3 (Key Success Factor)

(B) PAR R EER2AY BREE (Resource-Based Strategy)

(C) #5%%(Synergy)

(D) EE3# 4y T (Disintegration)

(B) SRERHEE (Strategic Alliance)

(F) 2= £ (L3R (Differentiation Strategy)

(G) B4 3 (Integration Strategy)

16. STRARIDEREHER  (EEENSISEEIHENRTES » RE5
TTRRHMAERRY - LBEHABHIRASZHEMNE - FRETHICIHAR]
RV L — AR R -

17. AR R ER RS A RS TR RS A A
SEFTERNETEEIEN - SR ERR AR iam—e
TRES T FRHE -

18 ERAF T BRI ZAEMT - BETEEERGE » HERE—
S TECERRISRE - MR B ERENE B EERK
TR — AR A R -
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19. —fedass T HEERRERTE  AES  RRRIH—EE
7-Eleven » HRFERERCE - HRATHIRHIE - HAE—©3ER
PRI L ER— RIS A -

20. TERF SR FIRERRF B AR SUER: - ERIEAHIERIRTE - TR
WEERE - THEERE - %F’nﬁmﬁf\%ﬂ’\_ﬂﬁéﬁiﬁﬁﬁiﬁ%—ﬁ%
PP IEHE -

= PR (SRR 20 5 IRIVESSSHE 200 HF - SRS
2 E TSR AZE ATE 1960 AR BT AR
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HERSUE/ME RSN
CNN B2 TR 24 /NERIR SRS -
WL EREMENT - RS - TR RENES -

Z L ARRALAREAEARMAGANDN - L4 Howard Grimes £ & k%
A EREABANRRESHER - B - SR EMBEEE TR LAY &
AR AL BEETREBARLNAEAZRTHRLY  RERLERBHESLEFR
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1. When a competitive industry is in long run equilibrium, which of the following
staternents will be true?
a. Price will equal short-run marginal cost.
_b. Price will equal short-run average total cost.
c. Price will equal long-run marginal cost.
d. All of the above.

2. Consider a country in which product X is produced and consumed domestically.
In addition, some of domestic consumption is the result of imports. Now, suppose
the government in this country imposes an import quota of zero (no more imporis
of X allowed), As aresult of the cutoff of imports, the domestic price of X
increases to a new equilibrium above the world price. The welfare effect of this

- new policy in this country is

a. no welfare loss.

b. the loss in consumer surplus exceeds the gain in producer surplus.

c. the loss in consumer surplus is less than the gain in producer surplus.

d. the loss in consumer surplus equals the gain in producer surplus.

3. If a monopolist's profits were taxed away and redistributed to its consumers,

a. inefficiency would remain because output would be lower than under competitive
conditions.

b. inefficiency would remain, but not because output would be tower than under
competitive conditions. '

¢. efficiency would be obtained because output would be increased to the competitive
level,

d. efficiency would be obtained because output would be increased and profits

removed,

4. The NSYSU Oil Company is a vertical integrated firm. It explores for and
extracts crude oil. Tt also refines the crude oil into gasoline and other products,
and sells these products to consumers. There are many other firms that extract
and sell crude oil so that the market for crude oil is regarded by NSYSU Oil as
competitive. The internal price that NSYSU Oil uses when the crude oil that it
extracts is "sold" to one of its refineries:

a. equals the market price for crude oil. ‘

b. equals the market price for crude oil less a discount because NSYSU Qil does not
profit from itself.
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c. is unrelated to the market price of crude oil.
d. is greater than the marginal cost of extracting crude oil.

5. You are studying a market for which the kinked demand curve model applies. The
kinked demand curve is as follows:
Q=1200-5P  for 0=Q<130
Q=360-P for150<Q

The marginal cost is given as:

MC=0Q
What is the profit maximizing level of output?
a. 171.43
b. 120
c. 150
d. none of the above.

6. John and Mary-would like to go out to dinner, but have different tastes in food.
The payoff matrix below shows John’s and Mary’s preferences.

John
Chinese American
Chinese 3,1 0,0
Mary American 0,0 1,3

Which of the following strategies is not a Nash equilibrium?

a. John and Mary both eat Chinese food.

b, John and Mary both eat American food.

_¢. John adopts a mixed strategy and chooses Chinese food with probability 2/3 and

" chooses American food with probability 1/3. Mary adopts a mixed strategy and
chooses Chinese food with probability 1/3 and chooses American food with
probability 2/3.

d. All of the above are Nash equilibrium.

7. If only one firm in an industry could take advantage of a reduced wage of labor and
all other firms continue paying old wage, how would one best describe the one
firm's reaction to this reduced wage assuming labor is the only variable input?

The MRP, curve

a. would remain unchanged, and the firm would hire more labor at the lower wage.

b. shifts to the left and the firm hires more labor at the lower wage on the new curve.

¢. shifts to the right and the firm hires more labor at the lower wage on the new curve.

d. rotates clockwise around the old wage-labor hire intersection, and the firm hires

more labor at the lower wage on the new rotated curve.
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8. Some universities now offer "tuition bond". Parents can purchase a bond at the
time their child is born.  The bond is redeemable in 18 years for an amount of
money equal to the cost of the university's tuition at that tirme. Which of the
foliowing would reduce the market price of these bonds?

a. An increase in the rate of interest.

b. A decrease in the rate of inferest. ‘

¢. The passage of legislation limiting increases in college tuition to the rate of
inflation.

d. Both (a) and (c).

i

9. The ailocation of twinkies and tasty kakes between two consumers is currently on
the contract curve.  Any reallocation

a. makes both consumers better off.

b. makes both consumers worse off.

c. makes one, and only one, consumer better off.

d. makes at least one consumer, but possibly both consumers, worse off.

10. 1 bought my BMW convertible as a new car in 1995 and I know that it is in
excellent condition. Now I want to sell it and know that there are other similar
cars on the used car market that are lemons.  As a result;

a.1 should be able to sell my car at a premium price because of its excellent condition.

b. I will have to accept a lower price for my car because buyers might think that it is a
lemon.

c. I will not be able to sell my car unless [ offer some sort of guarantee.

d. T 'will get the best price for my car by selling it to a dealer.
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Consider an individual who lives for two periods, earns a nominal income of $1000 in

each period, and has zero initial and terminal assets. The nominal interest rate, R, on

dollar loans is 15%, and the expected rate of inflation, 7, between the two period is

10%. Assume that the price level in the first period is 1.

a, What is the real value of period 1 income?

b. What is the maximum amount of dollars that could be borrowed in period 1? Find
the real value of this amount, and add it to the real value of period 1 income to see
the maximum amount of (real) consumption possible in period 1. '

c. What is the price level in period 22 What is the real value of period 2 income?

4 What is the maximum amount of dollars that can be obtained in period 2 by saving
in period 1? TFind the real value (in period 2) of this amount, and add it to the real
value of period 2 income to see the maximum amount of (real) consumption

possible in period 2.
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1. When John maximizes utility, he finds that his MRS of X and Y is greater than
Px/Py. It is most likely that:

4. John's preferences are incomplete.

b. John's preferences are irrational.

¢. John is not consuming good X.

d. John is not consuming good Y.

2. John's marginal utility of income function is given as
. MU(I)ﬁ.'[l's
where I represents income. From this you would say that he is
a. risk averse.
b. risk loving.
c. risk neuiral
d. none of these.

3. John just bought a house for $250,000. Earthquake insurance, which would pay
$250,000 in the event of a major earthquake, is available for $25,000; John
estimates that the probability of a major earthquake in the coming year is 10
percent, and that in the event of such a‘quake, the property would be worth nothing,.
John's wtility of income function is U()=I"*. Should John buy the insurance?

‘a. Yes.
b. No.
“¢. John is indifference.
d. We need more information on John's attitude toward risk.

4.A production function can be characterized by the following equation: Q=50+20L,
where Q is output per hour and L is labor per hour. If workers earn $15 per hour,
what is the marginal cost of the tenth unit of output?

$1.33.
. $0.75.
$300.
$20.

e 0 op

5. Whena cbmpetitivc industry is in long run equilibrium, which of the following
statements will be true?
" a. Price will equal short-run marginal cost.
b. Price will equal shori-run average total cost.
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c. Price will equal long-run marginal cost.
d. All of the above.

6. John and Mary would like to go out to dinner, but have different tastes in food.
The payoff matrix below shows John’s and Mary’s preferences.

John
- Chinese American
Chinese 3,1 0,0
Mary American 0,0 1,3

Which of the following strategies is not a Nash equilibrium?
_a. John and Mary both eat Chinese food.

b. John and Mary both eat American food.

c. John adopts a mixed strategy and chooses Chinese food with probability 2/3 and
chooses American food with probability 1/3. Mary adopts a mixed strategy and
chooses Chiriese food with probability 1/3 and chooses American food with
probability 2/3.

d. All of the above are Nash equilibrium.

7. If only one firm in an industry could take advantage of a reduced wage of labor and
_ all other firms continue paying old wage, how would one best describe the one
firm's reaction to this reduced wage assuming Iabor is the only variable input?
The MRP, curve
‘a. would remain unchanged, and the firm would hire more [abor at the lower wage.
b. shifis to the left and the firm hires more labor at the lower wage on the new curve.
¢. shifts to the right and the firm hires more labor at the lower wage on the new curve.
_d.totates clockwise around. the old wage-labor hire intersection, and the firm hires
more labor at the lower wage on the new rotated curve.

8. Some universities now offer "tuition bond”. Parents can purchase a bond at the
time their child is born. The bond is redeemable in 18 years for an amount of
money equal to the cost of the university's tuition at that time. Which of the
following would reduce the market price of these bonds?

a. An increase in the rate of interest.

b. A decrease in the rate of interest.

c. The passage of legislation limiting increases in college tuition to the rate of
inflation.

d. Both (a) and-(c).

9. The allocation of twinkies and tasty kakes between two consumers is currently on -
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the contract curve. Any reallocation
a. makes both consumers better off.
b. makes both consumers worse off.
c. makes one, and only one, consumer better off.
d. makes at least one consumer, but possibly both consumers, worse off.

10. Ibought my BMW convertible as a new car in 1995 and [ know that itis in
excellent condition. Now I want to sell it and know that there are other similar
cars on the used car market that arc lemons.  As a result: .

a. 1 should be able to sell my car at a premium price because of its excellent condition.

b.1 will have to accept a lower price for my car because buyers might think that it is a
lemon.

¢. I will not be able to sell iny car unless I offer some sort of guarantee.
d. I will get the best pricc for my car by selling it to a dealer.
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If a person buy a one-month futures contract on the German mark, he or she agrees to
purchase marks next month at a dollar exchange rate that is set today. The buyer of
this contract goes "long" on the mark and does well if the mark appreciates (more
than the amount expected) over the month.  Similarly, the seller of a one-month
futures contract agrees to sell marks next month at a dollar exchange rate that is
agreed on today. The seller goes "short" on the mark and does well if the mark
depreciates (more than expected) over the month. ‘

Consider a German bond with a maturity of one month.  This bond sells for a
specified number of marks today and will pay out a stated amount of marks in on
reonth. How can a person use the futures market to guarantee the dollar rate return
from buying the German bond and holding it for one month?
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